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DEMESYE =84 1,500,000& x12& 18,000
O5 = &l 3,264
>of2t, 522 8,000& x343| x12& 3,264

02 33249l 9,860 9,788 72
O1 222=2 % HA 3,140
DRERS 2,180& *12024 = 12& 3,140
O3 A& &HIs X bl 6,720
DAFRIII| X2 560,000& x12& 6,720

202 04 b 11,600 11,600 0

01 2LHHI 11,600 11,600 0
OJleg2+8 ofdl 800,000& x12& 9,600
OJI=2g2=3 22 0yl 2,000,000& x 14 2,000

203 &R =AY 4,200 4,200 0

04 EANSHLRF=AH| 4,200 4,200 0
ORANSELERFAY| 350,000& = 12& 4,200

405 XHAHE S| 8,000 8,600 A 600

01 AL 2 EF SHI 8,000 8,600 A 600
Qe=J1(22H) 2,500,000& = 1CH 2,500
OPC(2 M) (A 1,000, 000& *3CH 3,000
OZgde (A 700,000& = 1CH 700
OYIHHAE) 300, 000& *6IH 1,800




